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QUESTION 1

Which function does the Cisco Serving Gateway perform in a basic EPC network?

A. The SGW is responsible for authentication of the subscribers connecting to EPC network.
B. The SGW is a termination point in the network for Internet access.

C. The SGW forwards data packets from subscribers toward the PDN gateway.

D. The SGW is responsible for assigning the IP address to the subscriber.

Correct Answer: C

QUESTION 2

Which option describes where the Sp reference point is located?
A. between PCRF and SPR

B. between PCRF and the application function

C. between PGW and trusted non-3GPP IP access

D. between PCRF and ePDG

Correct Answer: A

QUESTION 3

Which statement about idle mode signaling reduction in the LTE network is true?

A. ISR support is not mandatory for UEs that support GERAN/UTRAN.

B. ISR requires special functionality on the UE and the core network nodes (MME, SGSN, and S-GW).
C. ISR requires special functionality on the UE and the core network nodes (MME and SGSN).

D. Gn/Gp SGSN supports idle mode signaling reduction functionality.

Correct Answer: B

QUESTION 4

Which statement describes what occurs with a UE in an active Voice over LTE call being handed over successfully from
the 4G LTE network to the 3G network via enhanced SR-VCC technology?

A. The voice call is interrupted and reconnected during the hand-over.
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B. The voice call must be handed over to Voice over HSPA in 3G network.
C. The voice call uses a circuit-switched connection in the 3G network.
D. The voice call is handed back to 4G Voice over LTE when coverage is back.

Correct Answer: C

QUESTION 5

You are configuring the Cisco ASR 5000 Serving Gateway. You want to configure a reference point between the
eNodeB and the SGW for the user plane and inter-eNodeB path switching during handover. Which option describes
where the interface IP address associates?

A. The address associates to the SGW service.

B. The address associates to the GTPU service.

C. The address associates to the EGTP service.

D. The address associates to the S1U service.

Correct Answer: B
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